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QUESTION 1

Given the following SQL command where the DBSPACETEMP onconfig and environment variables are set to valid
dbspaces: 

createtemp table mytemp (columns) with no log; 

inwhat order will the instance evaluate where to place this table? 

A. DBSPACETEMP environment variable, rootdbspace, dbspace where the database was created, DBSPACETEMP
onconfig parameter. 

B. DBSPACETEMP environment variable, DBSPACETEMPonconfig parameter, dbspace where the database was
created, root dbspace. 

C. DBSPACETEMPonconfig parameter variable, DBSPACETEMP environment variable, root dbspace, dbspace where
the database was created. 

D. DBSPACETEMPonconfig parameter variable, root dbspace, dbspace where the database was created,
DBSPACETEMP environment variable. 

Correct Answer: B 

 

QUESTION 2

Which statement about automatic space management is true? 

A. Spaces cannot be extended manually. 

B. Onlyunmirrored spaces can be extended. 

C. Mirrored andunmirrored spaces can be extended. 

D. The time interval for low storage space checks is not user configurable. 

Correct Answer: B 

 

QUESTION 3

Which role can create, alter, or delete trusted context objects? 

A. DBA 

B. DBSA 

C. DBSSO 

D. DBSECADM 

Correct Answer: D 
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QUESTION 4

When executing the following command: execute function sysadmin:task("table compress", "customer") what will
happen to the customer table? 

A. The rows will be compressed and the table size will decrease. 

B. The table will be taken offline and compressed, and the table size will decrease. 

C. The rows will be compressed and the space allocated to the table will be the same. 

D. The table will be taken offline and compressed, but the space allocated to the table will be the same. 

Correct Answer: C 

 

QUESTION 5

What statement about users accessing a Flexible Grid is true? 

A. Every user can execute commands on the Flexible Grid. 

B. Only userinformix can execute commands on a Flexible Grid. 

C. Users have to be authorized to execute Flexible Grid commands. 

D. Commands can only be executed from the node on which the Flexible Grid was created. 

Correct Answer: C 
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